

A CHARACTERIZATION OF QUADRIC CONSTANT GAUSS-KRONECKER CURVATURE HYPERSURFACES OF SPHERES*

OSCAR M. PERDOMO[†] AND GUOXIN WEI[‡]

Abstract. Let $M \subset S^{n+1}$ be a complete orientable hypersurface with constant Gauss-Kronecker curvature G . For any $v \in \mathbf{R}^{n+2}$, let us define the following two real functions $l_v, f_v : M \rightarrow \mathbf{R}$ on M by $l_v(x) = \langle x, v \rangle$ and $f_v(x) = \langle \nu(x), v \rangle$ with $\nu : M \rightarrow S^{n+1}$ a Gauss map of M . In this paper, we show that if $n = 3$, $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^5$ and some real number λ , then M is either totally umbilical (a Euclidean sphere) or M is a cartesian product of Euclidean spheres. We will also show with an example that the completeness condition is needed in the result we just mentioned. We also show that if $n = 4$, $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^6$ and some real number λ and $(\lambda^2 - 1)^2 + (G - 1)^2 \neq 0$, then M is either totally umbilical (a Euclidean sphere) or M is a cartesian product of Euclidean spheres. Moreover, we will give an example of a complete hypersurface in S^5 with constant Gauss-Kronecker curvature that satisfies the condition $l_v = \lambda f_v$ for some non zero v , which is neither a totally umbilical hypersurface nor a cartesian product of Euclidean spheres.

Key words. Clifford hypersurfaces, Gauss-Kronecker curvature, spheres.

AMS subject classifications. 53C42, 53A10.

1. Introduction. Let $M \subset S^{n+1}$ be an orientable hypersurface. For any $v \in \mathbf{R}^{n+2}$, let us define the following two real functions $l_v, f_v : M \rightarrow \mathbf{R}$ on M by

$$l_v(x) = \langle x, v \rangle, \quad f_v(x) = \langle \nu(x), v \rangle$$

where $\nu : M \rightarrow S^{n+1}$ is a Gauss map of M . These two family of functions $\{l_v\}_{v \in \mathbf{R}^{n+2}}$ and $\{f_v\}_{v \in \mathbf{R}^{n+2}}$ are very important because they can be defined for *any* oriented immersion on the sphere and they have been widely used to construct test functions to study the spectrum of operators on M such as the Laplace operator and the stability operator when M is minimal, M has constant mean curvature or M has constant scalar curvature. See for example [11], [12], [13], [14], [9], [6] and [4].

In [1], Alías, Brasil and the first author proved that if M is a *complete* hypersurface with constant mean curvature and $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^{n+2}$ and some real number λ , then M is either totally umbilical (a Euclidean sphere) or M is a cartesian product of Euclidean spheres. This is, M must be a isoparametric hypersurface of order 1 or 2. We can modify the arguments presented in [1] to show that the completeness was not needed and therefore there are not non-isoparametric locally defined hypersurfaces of S^{n+1} with constant mean curvature that satisfy the condition $l_v = \lambda f_v$. Also in [1] an example of a complete non-isoparametric hypersurface that satisfies $f_v = \lambda l_v$ was presented. After this result, it looked like to fulfill only one of the conditions was easy but only the isoparametric hypersurfaces of order 1 and 2 were the only ones that satisfy an algebraic equation for the principal curvatures and the additional condition $f_v = \lambda l_v$ for some nonzero vector v . In [10], the authors were able to show that, as expected, the conditions constant scalar curvature plus

*Received December 21, 2012; accepted for publication November 7, 2013.

[†]Department of Mathematics, Central Connecticut State University, New Britain, CT 06050, USA (perdomoosm@ccsu.edu).

[‡]School of Mathematical Sciences, South China Normal University, 510631 Guangzhou, People's Republic of China (weiguoxin@tsinghua.org.cn).

$f_v = \lambda l_v$ for some nonzero vector on a *complete* oriented hypersurface of S^4 imply that the hypersurface must be isoparametric of order 1 or 2. The authors proved that the completeness condition was needed this time by showing a non isoparametric hypersurface in S^4 with constant scalar curvature that satisfies the condition $f_v = \lambda l_v$ for some nonzero vector v . Recall that these non complete examples do not exist if we replace the condition, constant scalar curvature by the condition constant mean curvature.

In [3], Cheng, Li and the second author proved that if M has constant Gauss-Kronecker $G = c \neq \pm 1$, $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^{n+2}$ and some real number λ , then M is either totally umbilical (a Euclidean sphere) or M is a cartesian product of Euclidean spheres. A natural question to ask regarding this theorem is if the additional condition $G \neq \pm 1$ is needed? In this paper we show that for hypersurfaces of S^4 , the condition $G \neq \pm 1$ is not needed, it is just a technical assumption and, surprisingly, for hypersurfaces in S^5 the condition $G \neq \pm 1$ is needed. More precisely, in this paper we show that the only *complete* hypersurfaces of S^4 with constant Gauss-Kronecker curvature that satisfy $f_v = \lambda l_v$ for some nonzero vector v are the isoparametric hypersurfaces with order 1 and 2, and we show an example of a *complete* hypersurface in S^5 with constant Gauss-Kronecker curvature that is not isoparametric and satisfies that $f_v = \lambda l_v$ for some nonzero vector v . We also improve the result in [3] by showing that if a complete non-isoparametric hypersurface in S^5 has constant Gauss-Kronecker G and $f_v = \lambda l_v$ for some nonzero vector v , then G and $|\lambda|$ must be 1.

THEOREM 1.1. *Let $M \subset S^4$ be a complete orientable hypersurface with constant Gauss-Kronecker curvature G . If $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^5$ and some real number λ , then M is either totally umbilical (a Euclidean sphere) or M is a cartesian product of Euclidean spheres.*

THEOREM 1.2. *Let $M \subset S^5$ be a complete orientable hypersurface with constant Gauss-Kronecker curvature G . If $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^6$ and some real number λ , $(\lambda^2 - 1)^2 + (G - 1)^2 \neq 0$, then M is either totally umbilical (a Euclidean sphere) or M is a cartesian product of Euclidean spheres. Moreover there exists a complete orientable hypersurface which has constant Gauss-Kronecker curvature, $l_v = f_v$ for some nonzero vector $v \in \mathbf{R}^6$ and which is neither a totally umbilical hypersurface nor a cartesian product of Euclidean spheres. Due to the first part of this theorem this example satisfies $(\lambda^2 - 1)^2 + (G - 1)^2 = 0$.*

2. Proofs of Theorems. Without loss of generality, we will assume that M is not totally umbilical. For any fixed vector $v \in \mathbf{R}^{n+2}$, $v^\top : M \rightarrow \mathbf{R}^{n+2}$ defined by

$$v^\top(x) = v - l_v(x)x - f_v(x)\nu(x), \quad \text{for all } x \in M$$

is a tangent vector field on M because $\langle v^\top(x), x \rangle = 0$ and $\langle v^\top(x), \nu(x) \rangle = 0$ for every point $x \in M$. By multiplying the equation $l_v = \lambda f_v$ by an appropriated constant, we may assume that $|v| = 1$. In this proof, for any $c \in (-1, 1)$ we will denote by $S^n(c)$ the Euclidean sphere with radius $\sqrt{1 - c^2}$ given by $\{x \in S^{n+1} : \langle x, v \rangle = c\}$. We will also assume that l_v is not constant. Otherwise $M \subset S^n(c)$ for some c , and according to the completeness of M , we have $M = S^n(c)$, that is, M is totally umbilical.

Since l_v is not constant, then $\lambda \neq 0$. By changing the Gauss map ν by $-\nu$ if necessary, we will assume that $\lambda > 0$. From [1], we know that

- $N = S^n(0) \cap M$ is a non-empty complete surface of the unit sphere $S^n(0)$. Moreover, viewed as a surface in M , it is totally geodesic.
- For any $x \in N$, $v^\top = v$, therefore v is a unit vector in $T_x M$.
- For any $x \in N$, if $\beta_x(s)$ is the geodesic in M that satisfies $\beta_x(0) = x$ and $\beta'_x(0) = v$ then, up to a reparametrization, β is an integral curve of v^\top .
- For any $x \in N$, we have that if $\lambda_1, \dots, \lambda_{n-1}$ are the principal curvatures of N at x as a hyper surface of $S^n(0)$ and $w = \sqrt{1 + \lambda^{-2}}$, then, the principal curvatures of M along $\beta_x(s)$ are

$$\tilde{\lambda}_i(\beta_x(s)) = -\frac{1}{\lambda} + \frac{(1 + \lambda^2)(\lambda^{-1} + \lambda_i(x))}{\lambda(\lambda - \lambda_i(x)) \cos(ws) + (1 + \lambda\lambda_i(x))}, \quad i = 1, 2, \dots, n - 1.$$

$$\tilde{\lambda}_n(\beta_x(s)) = -\frac{1}{\lambda}.$$

Let us recall that, since $\tilde{\lambda}_1, \tilde{\lambda}_2, \dots, \tilde{\lambda}_n$ are the principal curvatures of M , then we have that the Gauss-Kronecker curvature G satisfies that

$$G = \tilde{\lambda}_1 \tilde{\lambda}_2 \cdots \tilde{\lambda}_n = \prod_{i=1}^n \tilde{\lambda}_i.$$

A direct verification shows that if $\lambda_i(x) = \lambda$ for some $x \in N$, then $\tilde{\lambda}_i(\beta_x(s)) = \lambda$ for all s . Likewise, if $\lambda_i(x) = -\lambda^{-1}$ for some $x \in N$ then, $\tilde{\lambda}_i(\beta_x(s)) = -\lambda^{-1}$ for all s . Therefore, if for all $x \in N$, we have that $\{\lambda_1(x), \dots, \lambda_{n-1}(x)\} \subset \{\lambda, -\lambda^{-1}\}$, we will get that M has either one constant principal curvature equal to $-\frac{1}{\lambda}$ or M has two constant principal curvatures λ and $-\frac{1}{\lambda}$. Then, using a similar argument as in [1] and [3], we have that in the first case, M is a Euclidean sphere and in the second case we get that M is the cartesian product of Euclidean spheres.

Firstly, we will prove Theorem 1.1.

Proof. From the previous paragraph, we have that in order to prove Theorem 1.1, it is enough to show that $\lambda_i(x) \in \{\lambda, -\lambda^{-1}\}$ for all $x \in N$ and $i = 1, 2$. For any $x \in N$ such that $\lambda_i(x) \notin \{\lambda, -\lambda^{-1}\}$ and let us define

$$a_i(x) = \lambda^{-1} + \lambda_i(x), \quad b_i(x) = \lambda(\lambda - \lambda_i(x)),$$

then,

$$a_i(x) \neq 0, \quad b_i(x) \neq 0.$$

The following sequence of statements will lead us to the conclusion that $\lambda_i(x) \in \{\lambda, -\lambda^{-1}\}$ for all $x \in N$.

CLAIM 1. *For any $x \in N$, it is impossible to have $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2(x) = -\lambda^{-1}$.*

If this happens, we have that for $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, we infer

$$G(\beta_x(s)) = \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s)) = -\frac{1}{\lambda^3} + \frac{1 + \lambda^2}{\lambda^2} \frac{a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)}.$$

This means that, for every $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, $\cos(ws)$ is a root of the following polynomial equation on X :

$$\left\{ G + \frac{1}{\lambda^3} \right\} (b_1(x)X + \lambda a_1(x)) - \frac{1 + \lambda^2}{\lambda^2} a_1(x) = 0.$$

Since the above polynomial equation should only have one root, we derive that the coefficient of X is zero, and, since $b_1(x) \neq 0$, we obtain,

$$G = -\frac{1}{\lambda^3},$$

then $\frac{1+\lambda^2}{\lambda^2}a_1(x) = 0$, it follows that $a_1(x) = 0$. This contradiction implies the claim.

CLAIM 2. *For any $x \in N$, it is impossible to have $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2(x) = \lambda$.*

Under these assumptions, we have

$$G(\beta_x(s)) = \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s)) = \frac{1}{\lambda} - (1 + \lambda^2)\frac{a_1(x)}{b_1(x)\cos(ws) + \lambda a_1(x)}.$$

Using the same arguments as in the proof of Claim 1, we obtain

$$G = \frac{1}{\lambda}, \quad a_1(x) = 0.$$

This contradiction implies the claim.

CLAIM 3. *If for some $x \in N$, $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2 \notin \{\lambda, -\lambda^{-1}\}$, then $G = -1$, $\lambda = 1$ and $1 - \lambda_1(x)\lambda_2(x) = 0$.*

Under these assumptions, we have

$$\begin{aligned} G(\beta_x(s)) &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s)) \\ &= -\frac{1}{\lambda} \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_1(x)}{b_1(x)\cos(ws) + \lambda a_1(x)} \right) \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_2(x)}{b_2(x)\cos(ws) + \lambda a_2(x)} \right) \\ &= -\frac{1}{\lambda^3} + \frac{(1 + \lambda^2)}{\lambda^2} \left(\frac{a_1(x)}{b_1(x)\cos(ws) + \lambda a_1(x)} + \frac{a_2(x)}{b_2(x)\cos(ws) + \lambda a_2(x)} \right) \\ &\quad - \frac{(1 + \lambda^2)^2}{\lambda} \frac{a_1(x)a_2(x)}{(b_1(x)\cos(ws) + \lambda a_1(x))(b_2(x)\cos(ws) + \lambda a_2(x))}. \end{aligned}$$

This means that, for every $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, $\cos(ws)$ is a root of the following polynomial equation on X :

$$\begin{aligned} &\left(G + \frac{1}{\lambda^3} \right) (b_1(x)X + \lambda a_1(x))(b_2(x)X + \lambda a_2(x)) \\ &- \frac{(1 + \lambda^2)}{\lambda^2} \{ a_1(x)(b_2(x)X + \lambda a_2(x)) + a_2(x)(b_1(x)X + \lambda a_1(x)) \} \\ &+ \frac{(1 + \lambda^2)^2}{\lambda} a_1(x)a_2(x) = 0. \end{aligned}$$

Since the polynomial equation should only have finite roots, we derive that the coefficients of X^q are zero for any integer $q \in \{0, 1, 2\}$, that is,

$$G = -\frac{1}{\lambda^3}, \quad a_1(x)b_2(x) + a_2(x)b_1(x) = 0, \quad (1 - \lambda^2)a_1(x)a_2(x) = 0.$$

Since $a_1(x)a_2(x) \neq 0$, then we get that $\lambda^2 = 1$ and since we are assuming that $\lambda > 0$, we get that $\lambda = 1$. Since $G = -\frac{1}{\lambda^3}$, then we get that $G = -1$. The last equation in Claim 3 follows from these equalities.

$$a_1(x)b_2(x) + a_2(x)b_1(x) = (\lambda^2 - 1)(\lambda_1 + \lambda_2) + 2\lambda(1 - \lambda_1\lambda_2) = 2(1 - \lambda_1\lambda_2) = 0.$$

CLAIM 4. For any $x \in N$, it is impossible to have $\lambda_1(x) \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2(x) \notin \{\lambda, -\lambda^{-1}\}$.

Let us argue by contradiction and let us assume that $\lambda_1(x_0) \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2(x_0) \notin \{\lambda, -\lambda^{-1}\}$. By Claim 3 we must have that the constant value of the scalar curvature must be $G = -1$; moreover, λ must be equal to 1 and, the values $\lambda_1(x_0)$ and $\lambda_2(x_0)$ must satisfy the equation

$$(2.1) \quad 1 - \lambda_1(x)\lambda_2(x) = 0.$$

Since $\lambda = 1$, for any $x \in N$ such that $\lambda_i(x) \notin \{\lambda, -\lambda^{-1}\}$, we have that

$$\tilde{\lambda}_i(\beta_x(s)) = -1 + \frac{2(1 + \lambda_i(x))}{(1 - \lambda_i(x)) \cos(ws) + (1 + \lambda_i(x))}.$$

Using the fact that $\frac{1+\lambda_i(x)}{1-\lambda_i(x)}$ is between -1 and 1 when $\lambda_i(x) \leq 0$, we conclude that $\lambda_i(x) > 0$; otherwise, for some value of s the expression $\tilde{\lambda}_i(\beta_x(s))$ would blow up. Let us show for all $x \in N$, $\lambda_1(x)$ and $\lambda_2(x)$ are positive and $\lambda_1(x)\lambda_2(x) = 1$. Let $x \in N$ be any point in N . Since N is complete there is a geodesic γ in N such that $\gamma(0) = x_0$ and $\gamma(t_0) = x$. By claim 2 we have that, if for some t , $\lambda_1(\gamma(t)) = 1$ then $\lambda_2(\gamma(t)) = 1$. By continuity it follows that $\lambda_1(x)$ and $\lambda_2(x)$ are positive and $\lambda_1(x)\lambda_2(x) = 1$. From the previous arguments, we have that the principal curvatures of N as a surface of the unit three dimensional sphere are greater than 0 and they satisfy equation 2.1, hence the sectional curvature K of N is $K = 1 + \lambda_1\lambda_2 = 2$, then N is compact from Myers's theorem. From the result of Cheng-Yau (see Theorem 2 of [5], Page 200), we obtain that N is a totally umbilical sphere. This is a contradiction with the fact that $\lambda_1(x_0) \notin \{\lambda, -\lambda^{-1}\} = \{1, -1\}$, because the only positive value $t = \lambda_1 = \lambda_2$ that satisfies equation 2.1 is $t = 1$.

From Claims 1, 2 and 4 we conclude that the principal curvatures on N are constant and contained in the set $\{\lambda, -\lambda^{-1}\}$. As pointed out before, we can infer from this fact that the principal curvature on M are constant and contained in the set $\{\lambda, -\lambda^{-1}\}$ and therefore Theorem 1.1 follows. \square

Secondly, we will prove Theorem 1.2.

Proof. For any $x \in N$ such that $\lambda_i(x) \notin \{\lambda, -\lambda^{-1}\}$ and let us define

$$a_i(x) = \lambda^{-1} + \lambda_i(x), \quad b_i(x) = \lambda(\lambda - \lambda_i(x)),$$

then,

$$a_i(x) \neq 0, \quad b_i(x) \neq 0.$$

CLAIM 1. For any $x \in N$, it is impossible to have $\lambda_1(x) \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2(x) = \lambda_3(x) = -\lambda^{-1}$.

If this happens, we have that for $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, we infer

$$\begin{aligned} G(\beta_x(s)) &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s))\tilde{\lambda}_4(\beta_x(s)) \\ &= \frac{1}{\lambda^4} - \frac{1 + \lambda^2}{\lambda^3} \frac{a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)}. \end{aligned}$$

This means that, for every $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, $\cos(ws)$ is a root of the following polynomial equation on X :

$$\left\{ G - \frac{1}{\lambda^4} \right\} (b_1(x)X + \lambda a_1(x)) + \frac{1 + \lambda^2}{\lambda^3} a_1(x) = 0.$$

Since the above polynomial equation should only have one root, we derive that the coefficient of X is zero, and, since $b_1(x) \neq 0$, we obtain,

$$G = \frac{1}{\lambda^4},$$

then $\frac{1+\lambda^2}{\lambda^3} a_1(x) = 0$, it follows that $a_1(x) = 0$. This contradiction implies the claim.

CLAIM 2. *For any $x \in N$, it is impossible to have $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$, $\lambda_2(x) = \lambda$ and $\lambda_3(x) = -\lambda^{-1}$.*

Under these assumptions, we have

$$\begin{aligned} G(\beta_x(s)) &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s))\tilde{\lambda}_4(\beta_x(s)) \\ &= -\frac{1}{\lambda^2} + \frac{1 + \lambda^2}{\lambda} \frac{a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)}. \end{aligned}$$

Using the same arguments as in the proof of Claim 1, we obtain

$$G = -\frac{1}{\lambda^2}, \quad a_1(x) = 0.$$

This contradiction implies the claim.

CLAIM 3. *For any $x \in N$, it is impossible to have $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_2(x) = \lambda_3(x) = \lambda$.*

Under these assumptions, we have

$$\begin{aligned} G(\beta_x(s)) &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s))\tilde{\lambda}_4(\beta_x(s)) \\ &= 1 - \lambda(1 + \lambda^2) \frac{a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)}. \end{aligned}$$

Using the same arguments as in the proof of Claim 1, we obtain

$$G = 1, \quad a_1(x) = 0.$$

This contradiction implies the claim.

CLAIM 4. *If for some $x \in N$, $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$, $\lambda_2 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_3 = -\lambda^{-1}$, then $G = 1$, $\lambda = 1$ and $1 - \lambda_1(x)\lambda_2(x) = 0$.*

Under these assumptions, we have

$$\begin{aligned} G(\beta_x(s)) &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s))\tilde{\lambda}_4(\beta_x(s)) \\ &= \frac{1}{\lambda^2} \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)} \right) \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_2(x)}{b_2(x) \cos(ws) + \lambda a_2(x)} \right) \\ &= \frac{1}{\lambda^4} - \frac{(1 + \lambda^2)}{\lambda^3} \left(\frac{a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)} + \frac{a_2(x)}{b_2(x) \cos(ws) + \lambda a_2(x)} \right) \\ &\quad + \frac{(1 + \lambda^2)^2}{\lambda^2} \frac{a_1(x)a_2(x)}{(b_1(x) \cos(ws) + \lambda a_1(x))(b_2(x) \cos(ws) + \lambda a_2(x))}. \end{aligned}$$

This means that, for every $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, $\cos(ws)$ is a root of the following polynomial equation on X :

$$\begin{aligned} & \left(G - \frac{1}{\lambda^4}\right) (b_1(x)X + \lambda a_1(x))(b_2(x)X + \lambda a_2(x)) \\ & + \frac{(1 + \lambda^2)}{\lambda^3} \{a_1(x)(b_2(x)X + \lambda a_2(x)) + a_2(x)(b_1(x)X + \lambda a_1(x))\} \\ & - \frac{(1 + \lambda^2)^2}{\lambda^2} a_1(x)a_2(x) = 0. \end{aligned}$$

Since the polynomial equation should only have finite roots, we derive that the coefficients of X^q are zero for any integer $q \in \{0, 1, 2\}$, that is,

$$G = \frac{1}{\lambda^4}, \quad a_1(x)b_2(x) + a_2(x)b_1(x) = 0, \quad (\lambda^2 - 1)a_1(x)a_2(x) = 0.$$

Since $a_1(x)a_2(x) \neq 0$, then we get that $\lambda^2 = 1$ and since we are assuming that $\lambda > 0$, we get that $\lambda = 1$. Since $G = \frac{1}{\lambda^4}$, then we get that $G = 1$. The last equation in Claim 4 follows from these equalities.

$$a_1(x)b_2(x) + a_2(x)b_1(x) = (\lambda^2 - 1)(\lambda_1 + \lambda_2) + 2\lambda(1 - \lambda_1\lambda_2) = 2(1 - \lambda_1\lambda_2) = 0.$$

CLAIM 5. *If for some $x \in N$, $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$, $\lambda_2 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_3 = \lambda$, then $G = -1$, $\lambda = 1$ and $1 - \lambda_1(x)\lambda_2(x) = 0$.*

Under these assumptions, we have

$$\begin{aligned} G(\beta_x(s)) &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s))\tilde{\lambda}_4(\beta_x(s)) \\ &= -\left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_1(x)}{b_1(x)\cos(ws) + \lambda a_1(x)}\right) \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_2(x)}{b_2(x)\cos(ws) + \lambda a_2(x)}\right) \\ &= -\frac{1}{\lambda^2} + \frac{(1 + \lambda^2)}{\lambda} \left(\frac{a_1(x)}{b_1(x)\cos(ws) + \lambda a_1(x)} + \frac{a_2(x)}{b_2(x)\cos(ws) + \lambda a_2(x)}\right) \\ &\quad - (1 + \lambda^2)^2 \frac{a_1(x)a_2(x)}{(b_1(x)\cos(ws) + \lambda a_1(x))(b_2(x)\cos(ws) + \lambda a_2(x))}. \end{aligned}$$

This means that, for every $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, $\cos(ws)$ is a root of the following polynomial equation on X :

$$\begin{aligned} & \left(G + \frac{1}{\lambda^2}\right) (b_1(x)X + \lambda a_1(x))(b_2(x)X + \lambda a_2(x)) \\ & - \frac{(1 + \lambda^2)}{\lambda} \{a_1(x)(b_2(x)X + \lambda a_2(x)) + a_2(x)(b_1(x)X + \lambda a_1(x))\} \\ & + (1 + \lambda^2)^2 a_1(x)a_2(x) = 0. \end{aligned}$$

Since the polynomial equation should only have finite roots, we derive that the coefficients of X^q are zero for any integer $q \in \{0, 1, 2\}$, that is,

$$G = -\frac{1}{\lambda^2}, \quad a_1(x)b_2(x) + a_2(x)b_1(x) = 0, \quad (1 - \lambda^2)a_1(x)a_2(x) = 0.$$

Since $a_1(x)a_2(x) \neq 0$, then we get that $\lambda^2 = 1$ and since we are assuming that $\lambda > 0$, we get that $\lambda = 1$. Since $G = -\frac{1}{\lambda^2}$, then we get that $G = -1$. The last equation in Claim 5 follows from these equalities.

$$a_1(x)b_2(x) + a_2(x)b_1(x) = (\lambda^2 - 1)(\lambda_1 + \lambda_2) + 2\lambda(1 - \lambda_1\lambda_2) = 2(1 - \lambda_1\lambda_2) = 0.$$

CLAIM 6. For any $x \in N$, it is impossible to have $\lambda_1 \notin \{\lambda, -\lambda^{-1}\}$, $\lambda_2 \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_3 \notin \{\lambda, -\lambda^{-1}\}$.

Under these assumptions, we have

$$\begin{aligned}
 & G(\beta_x(s)) \\
 &= \tilde{\lambda}_1(\beta_x(s))\tilde{\lambda}_2(\beta_x(s))\tilde{\lambda}_3(\beta_x(s))\tilde{\lambda}_4(\beta_x(s)) \\
 &= -\frac{1}{\lambda} \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)} \right) \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_2(x)}{b_2(x) \cos(ws) + \lambda a_2(x)} \right) \\
 &\quad \times \left(-\frac{1}{\lambda} + \frac{(1 + \lambda^2)a_3(x)}{b_3(x) \cos(ws) + \lambda a_3(x)} \right) \\
 &= \frac{1}{\lambda^4} - \frac{(1 + \lambda^2)}{\lambda^3} \left(\frac{a_1(x)}{b_1(x) \cos(ws) + \lambda a_1(x)} + \frac{a_2(x)}{b_2(x) \cos(ws) + \lambda a_2(x)} \right. \\
 &\quad \left. + \frac{a_3(x)}{b_3(x) \cos(ws) + \lambda a_3(x)} \right) \\
 &\quad + \frac{(1 + \lambda^2)^2}{\lambda^2} \left\{ \frac{a_1(x)a_2(x)}{(b_1(x) \cos(ws) + \lambda a_1(x))(b_2(x) \cos(ws) + \lambda a_2(x))} \right. \\
 &\quad \left. + \frac{a_1(x)a_3(x)}{(b_1(x) \cos(ws) + \lambda a_1(x))(b_3(x) \cos(ws) + \lambda a_3(x))} \right. \\
 &\quad \left. + \frac{a_2(x)a_3(x)}{(b_2(x) \cos(ws) + \lambda a_2(x))(b_3(x) \cos(ws) + \lambda a_3(x))} \right\} \\
 &\quad - \frac{(1 + \lambda^2)^3}{\lambda} \frac{a_1(x)a_2(x)a_3(x)}{(b_1(x) \cos(ws) + \lambda a_1(x))(b_2(x) \cos(ws) + \lambda a_2(x))(b_3(x) \cos(ws) + \lambda a_3(x))}.
 \end{aligned}$$

This means that, for every $s \in (-\frac{\pi}{2w}, \frac{\pi}{2w})$, $\cos(ws)$ is a root of the following polynomial equation on X :

$$\begin{aligned}
 & \left(G - \frac{1}{\lambda^4} \right) (b_1(x)X + \lambda a_1(x))(b_2(x)X + \lambda a_2(x))(b_3(x)X + \lambda a_3(x)) \\
 & + \frac{(1 + \lambda^2)}{\lambda^3} \left\{ a_1(x)(b_2(x)X + \lambda a_2(x))(b_3(x)X + \lambda a_3(x)) + a_2(x)(b_1(x)X \right. \\
 & \left. + \lambda a_1(x))(b_3(x)X + \lambda a_3(x)) + a_3(x)(b_1(x)X + \lambda a_1(x))(b_2(x)X + \lambda a_2(x)) \right\} \\
 & - \frac{(1 + \lambda^2)^2}{\lambda^2} \left\{ a_1(x)a_2(x)(b_3(x)X + \lambda a_3(x)) + a_1(x)a_3(x)(b_2(x)X + \lambda a_2(x)) \right. \\
 & \left. + a_2(x)a_3(x)(b_1(x)X + \lambda a_1(x)) \right\} \\
 & + \frac{(1 + \lambda^2)^3}{\lambda} a_1(x)a_2(x)a_3(x) = 0.
 \end{aligned}$$

Since the polynomial equation should only have finite roots, we derive that the coefficients of X^q are zero for any integer $q \in \{0, 1, 2, 3\}$, that is,

$$G = \frac{1}{\lambda^4}, \quad a_1(x)b_2(x)b_3(x) + a_2(x)b_1(x)b_3(x) + a_3(x)b_1(x)b_2(x) = 0,$$

$$(\lambda^2 - 1)(a_1(x)a_2(x)b_3(x) + a_1(x)b_2(x)a_3(x) + b_1(x)a_2(x)a_3(x)) = 0,$$

$$(-\lambda^4 + \lambda^2 - 1)a_1(x)a_2(x)a_3(x) = 0.$$

Since $-\lambda^4 + \lambda^2 - 1 < 0$, then we get that $a_1(x)a_2(x)a_3(x) = 0$. This contradiction implies the claim.

REMARK 2.1. From claims 1, 2, 3 and 6, it follows that at every point in N , either exactly two principal curvatures of N are not in the set $\{\lambda, -\frac{1}{\lambda}\}$ or all three principal curvatures are in the set $\{\lambda, -\frac{1}{\lambda}\}$.

CLAIM 7. For any $x \in N$, it is impossible to have $\lambda_1(x) \notin \{\lambda, -\lambda^{-1}\}$, $\lambda_2(x) \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_3(x) = \lambda$.

Let us argue by contradiction and let us assume that $\lambda_1(x_0) \notin \{\lambda, -\lambda^{-1}\}$, $\lambda_2(x_0) \notin \{\lambda, -\lambda^{-1}\}$ and $\lambda_3(x_0) = \lambda$. By Claim 5 we must have that the constant value of the Gauss-Kronecker curvature must be $G = -1$, and moreover, λ must be equal to 1 and, the values $\lambda_1(x_0)$ and $\lambda_2(x_0)$ must satisfy the equation

$$(2.2) \quad 1 - \lambda_1(x)\lambda_2(x) = 0.$$

Using a similar argument as the one used in the proof of Claim 4 of Theorem 1.1, we obtain that the principal curvatures of N as a hypersurface of the unit four dimensional sphere are greater than 0 and they satisfy equation 2.2, hence the sectional curvature of N along each plane spanned by two principal directions is $R_{ijij} = 1 + \lambda_i\lambda_j > 1$, we can prove that the sectional curvature is positive for all the planes. Therefore N is compact from Myers's theorem. A direct computation shows that equation 2.2 can be written as

$$r_N = H_N + 1,$$

where r_N is the normalized scalar curvature of N and H_N is the mean curvature of N . From the result of Li-Suh-Wei (see Theorem 1.3 of [8], Page 322), we obtain that N is a totally umbilical sphere. This is a contradiction with the fact that $\lambda_1(x_0) \notin \{\lambda, -\lambda^{-1}\} = \{1, -1\}$, because the only positive value $t = \lambda_1 = \lambda_2$ that satisfies equation 2.2 is $t = 1$.

From Claims, 1, 2, 3, 4, 6 and 7, we conclude that the principal curvatures on N are constant and contained in the set $\{\lambda, -\lambda^{-1}\}$ if $(\lambda^2 - 1)^2 + (G - 1)^2 \neq 0$. As pointed out before, we can infer from this fact that the principal curvature on M are constant and contained in the set $\{\lambda, -\lambda^{-1}\}$ and therefore Theorem 1.2 follows. \square

3. Some hypersurfaces in $S^{n+1}(1)$ with constant Gauss-Kronecker curvature and with $l_v = \lambda f_v$ for some nonzero vector $v \in \mathbf{R}^{n+2}$ and some real number $\lambda \in \mathbf{R}^1$.

EXAMPLE 1. A non complete hypersurface in $S^4(1)$ with constant Gauss-Kronecker curvature $G = -1$ that satisfies $l_v = f_v$ for some nonzero vector $v \in \mathbf{R}^5$.

Let us assume that $S \subset S^3(1) \subset \mathbf{R}^5$ is an open piece of a minimal surface with principal curvatures a and $-a$. Let us assume that for all $x \in S$, we have that $0 < a(x) < 1$. Assume that $\phi : U \subset \mathbf{R}^2 \rightarrow S$ is a conformal parametrization and $N : U \rightarrow S^3(1)$ is Gauss map of the immersion. Let us also assume that

$$\frac{\partial N}{\partial t_1} = -a(\phi(t_1, t_2)) \frac{\partial \phi}{\partial t_1}, \quad \frac{\partial N}{\partial t_2} = a(\phi(t_1, t_2)) \frac{\partial \phi}{\partial t_2}.$$

This is, we will assume that $\frac{\partial \phi}{\partial t_1}$ and $\frac{\partial \phi}{\partial t_2}$ are principal directions.

Let us define $\xi : U \rightarrow S^3(1)$ by

$$\xi(t_1, t_2) = \frac{1}{\sqrt{2}}(\phi(t_1, t_2) + N(t_1, t_2)).$$

A direct computation shows that

$$\nu(t_1, t_2) = \frac{1}{\sqrt{2}}(\phi(t_1, t_2) - N(t_1, t_2))$$

is a Gauss map of ξ and moreover, since

$$\frac{\partial \xi}{\partial t_1} = \frac{1-a}{\sqrt{2}} \frac{\partial \phi}{\partial t_1}, \quad \frac{\partial \xi}{\partial t_2} = \frac{1+a}{\sqrt{2}} \frac{\partial \phi}{\partial t_2}$$

and

$$\frac{\partial \nu}{\partial t_1} = \frac{1+a}{\sqrt{2}} \frac{\partial \phi}{\partial t_1}, \quad \frac{\partial \nu}{\partial t_2} = \frac{1-a}{\sqrt{2}} \frac{\partial \phi}{\partial t_2}.$$

We conclude that the differential of ν satisfies

$$d\nu \left(\frac{1-a}{\sqrt{2}} \frac{\partial \phi}{\partial t_1} \right) = \frac{1+a}{\sqrt{2}} \frac{\partial \phi}{\partial t_1}, \quad d\nu \left(\frac{1+a}{\sqrt{2}} \frac{\partial \phi}{\partial t_2} \right) = \frac{1-a}{\sqrt{2}} \frac{\partial \phi}{\partial t_2}.$$

Therefore the principal curvatures of ξ are $\frac{1+a}{a-1}$ and $\frac{a-1}{a+1}$.

Let us define $\varphi : U \times I \rightarrow S^4$ by

$$\varphi(t_1, t_2, t_3) = \left(\frac{1}{2}(\cos(\sqrt{2}t_3) - 1)(\xi + \nu) + \xi, \frac{1}{\sqrt{2}}\sin(\sqrt{2}t_3) \right).$$

We have that

$$\frac{\partial \varphi}{\partial t_1} = \left(\frac{1}{\sqrt{2}}(\cos(\sqrt{2}t_3) - a) \frac{\partial \phi}{\partial t_1}, 0 \right),$$

$$\frac{\partial \varphi}{\partial t_2} = \left(\frac{1}{\sqrt{2}}(\cos(\sqrt{2}t_3) + a) \frac{\partial \phi}{\partial t_2}, 0 \right),$$

$$\frac{\partial \varphi}{\partial t_3} = \left(-\frac{1}{\sqrt{2}}\sin(\sqrt{2}t_3)(\xi + \nu), \cos(\sqrt{2}t_3) \right).$$

From the computations above we get that $\frac{\partial \varphi}{\partial t_3}$ is a unit vector. Let us define,

$$\zeta(t_1, t_2, t_3) = \left(\frac{1}{2}(\cos(\sqrt{2}t_3) + 1)(\xi + \nu) - \xi, \frac{1}{\sqrt{2}}\sin(\sqrt{2}t_3) \right),$$

A direct computation shows that ζ is a Gauss map for the immersion φ , therefore we can easily see that $f_v = l_v$ for $v = (0, 0, 0, 0, 1)$. Let us compute the principal curvatures of the immersion φ . We have that

$$\frac{\partial \zeta}{\partial t_1} = \left(\frac{1}{\sqrt{2}}(\cos(\sqrt{2}t_3) + a) \frac{\partial \phi}{\partial t_1}, 0 \right),$$

$$\frac{\partial \zeta}{\partial t_2} = \left(\frac{1}{\sqrt{2}}(\cos(\sqrt{2}t_3) - a) \frac{\partial \phi}{\partial t_2}, 0 \right),$$

$$\frac{\partial \zeta}{\partial t_3} = \left(-\frac{1}{\sqrt{2}} \sin(\sqrt{2}t_3)(\xi + \nu), \cos(\sqrt{2}t_3) \right) = \frac{\partial \varphi}{\partial t_3}.$$

It follows that the principal curvatures of ζ are

$$k_1 = \frac{\cos(\sqrt{2}t_3) + a}{a - \cos(\sqrt{2}t_3)}, \quad k_2 = \frac{a - \cos(\sqrt{2}t_3)}{\cos(\sqrt{2}t_3) + a}, \quad k_3 = -1.$$

EXAMPLE 2. A complete hypersurface in $S^5(1)$ with constant Gauss-Kronecker curvature $G = 1$ and with $l_v = f_v$ for some nonzero vector $v \in \mathbf{R}^6$.

Let $f : \mathbf{R}^5 \rightarrow \mathbf{R}$ be the function given by

$$f(x_1, \dots, x_5) = x_1^3 - 3x_1x_2^2 + \frac{3}{2}x_1(x_3^2 + x_4^2 - 2x_5^2) + \frac{3\sqrt{3}}{2}x_2(x_3^2 - x_4^2) + 3\sqrt{3}x_3x_4x_5,$$

one has that

$$M = \{x \in S^4 : f(x) = 0\}$$

is a minimal isoparametric hypersurface with principal curvatures $\sqrt{3}$, 0 and $-\sqrt{3}$.

Let

$$\Sigma = \left\{ \left(\frac{1}{\sqrt{2}}x \cos s + \frac{1}{\sqrt{2}}\nu(x), \frac{1}{\sqrt{2}} \sin s \right) : x \in M, s \in \mathbf{R} \right\},$$

where $x \in M \subset S^4(1) \subset \mathbf{R}^5$, $\nu : M \rightarrow S^4(1) \subset \mathbf{R}^5$ denotes the Gauss map of M .

Let $\phi : M \times \mathbf{R} \rightarrow \Sigma$ is given by

$$\phi(x, s) = \left(\frac{1}{\sqrt{2}}x \cos s + \frac{1}{\sqrt{2}}\nu(x), \frac{1}{\sqrt{2}} \sin s \right).$$

By a direct calculation, one can show that Σ is compact and embedded because Σ is one connected component of $h^{-1}(0)$, where $h(x_1, \dots, x_6) = \sqrt{2}f(x_1, \dots, x_5) + 3x_6^2 - 1$ and we can check that 0 is a regular value of the function h restricted to $S^5(1) \subset \mathbf{R}^6$.

Let us consider a vector $v_1 \in T_xM$ such that $A(v_1) = -d\nu(v_1) = \sqrt{3}v_1$, one has

$$w_1 = d\phi_{(x,s)}(v_1) = \frac{1}{\sqrt{2}}((-\sqrt{3} + \cos s)v_1, 0) \in T_{\phi(x,s)}\Sigma.$$

The Gauss map at the point $\phi(x, s)$ is given by

$$N(\phi(x, s)) = \left(\frac{1}{\sqrt{2}}x \cos s - \frac{1}{\sqrt{2}}\nu(x), \frac{1}{\sqrt{2}} \sin s \right).$$

A direct computation shows that

$$dN_{\phi(x,s)}(w_1) = \frac{1}{\sqrt{2}}((\cos s + \sqrt{3})v_1, 0) = \frac{\cos s + \sqrt{3}}{\cos s - \sqrt{3}}w_1,$$

then $\frac{\cos s + \sqrt{3}}{\sqrt{3} - \cos s}$ is a principal curvature of Σ at $\phi(x, s)$.

If we consider a vector v_2 such that $d\nu(v_2) = \sqrt{3}v_2$, then one gets that $\frac{\sqrt{3} - \cos s}{\sqrt{3} + \cos s}$ is a principal curvature of Σ by using the same computation as that of v_1 . If we consider a vector v_3 such that $d\nu(v_3) = 0 \times v_3$, then one gets that -1 is a principal curvature of Σ .

Since

$$d\phi_{(x,s)}\left(\frac{\partial}{\partial s}\right) = \left(-\frac{1}{\sqrt{2}}x \sin s, \frac{1}{\sqrt{2}}\cos s\right)$$

and

$$dN_{\phi(x,s)}(w_4) = \left(-\frac{1}{\sqrt{2}}x \sin s, \frac{1}{\sqrt{2}}\cos s\right) = w_4,$$

we have -1 is another principal curvature of Σ .

Therefore Σ has principal curvatures

$$\frac{\cos s + \sqrt{3}}{\sqrt{3} - \cos s}, \frac{\sqrt{3} - \cos s}{\sqrt{3} + \cos s}, -1, \text{ and } -1,$$

and Gauss-Kronecker curvature is

$$G = \frac{\cos s + \sqrt{3}}{\sqrt{3} - \cos s} \times \frac{\sqrt{3} - \cos s}{\sqrt{3} + \cos s} \times (-1) \times (-1) = 1.$$

From the expression of $\phi(x, s)$ and $N(\phi(x, s))$, we obtain

$$l_v = f_v, \quad \text{for } v = (0, 0, 0, 0, 0, 1) \in \mathbf{R}^6.$$

Acknowledgements. The authors thank the referee's valuable suggestions. The second author was partly supported by NSFC (Grant No. 11001087, 11371150) and the project of Pearl River New Star of Guangzhou (Grant No. 2012J2200028).

REFERENCES

- [1] L. ALIAS, A. BRASIL, AND O. PERDOMO, *A characterization of quadric constant scalar curvature of spheres*, J. Geom. Anal., 18 (2008), pp. 687–703.
- [2] T. E. CECIL AND P. T. RYAN, *Tight and taut immersions of manifolds*, Research Notes in Math. 107, Pitman, London, (1985).
- [3] Q.-M. CHENG, H. LI, AND G. WEI, *On some rigidity results of hypersurfaces in a sphere*, Proc. Roy. Soc. Edinburgh Sect. A., 140 (2010), pp. 477–493.
- [4] Q.-M. CHENG, H. LI, AND G. WEI, *The stability index of hypersurfaces with constant scalar curvature in spheres*, Proc. Roy. Soc. Edinburgh Sect. A, 144 (2014), pp. 447–453.
- [5] S. Y. CHENG AND S.-T. YAU, *Hypersurfaces with constant scalar curvature*, Math. Ann., 225 (1977), pp. 195–204.
- [6] J. GE AND Z. Z. TANG, *Chern conjecture and isoparametric hypersurfaces*, Differential Geometry - under the influence of S. S. Chern, edited by Y. B. Shen, Z. M. Shen, S. T. Yau, Higher Education Press and International Press, Beijing-Boston, 2012.
- [7] H. LI, *Global rigidity theorems of hypersurfaces*, Ark. Mat., 35 (1997), pp. 327–351.
- [8] H. LI, Y. J. SUH, AND G. WEI, *Linear Weingarten hypersurfaces in a unit sphere*, Bull. Korean Math. Soc., 46 (2009), pp. 321–329.
- [9] O. PERDOMO AND A. BRASIL, *Stability index jump for cmc hypersurfaces of spheres*, Arch. Math., 99 (2012), pp. 493–500.
- [10] O. PERDOMO AND G. WEI, *A characterization of constant scalar curvature hypersurfaces of spheres*, J. Geom. Anal., 24 (2014), pp. 1882–1890.

- [11] B. SOLOMON, *The harmonic analysis of cubic isoparametric minimal hypersurfaces I. Dimensions 3 and 6*, Amer. J. Math., 112:2 (1990), pp. 157–203.
- [12] B. SOLOMON, *The harmonic analysis of cubic isoparametric minimal hypersurfaces II. Dimensions 12 and 24*, Amer. J. Math., 112:2 (1990), pp. 205–241.
- [13] B. SOLOMON, *Quartic isoparametric minimal hypersurfaces and quadratic forms*, Amer. J. Math., 293:3 (1992), pp. 387–398.
- [14] L. SIMON AND B. SOLOMON, *Minimal hypersurfaces asymptotic to quadratic cones in \mathbf{R}^{n+1}* , Invent. Math., 86:3 (1986), pp. 535–551.

